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* Choose the correct answer

1
x

1) Estimate the length of the curve f(x) == ,1<x <2.usingn=4

a) 4.118 b)1.131

c) 2.187 d) 3.167

2) Fromrhe graph find xll,r(l)l+ f(x)

b) -2

d) DNE

3)The value of | x”— 1
e value o im
x-1 x2 + 2x — 3

b) %
d) DNE

4) Determine the intervals on which f(x) is continuous.

f(x) = In(sinx)

a)(2nm ,(2n-1)m) b) (nm ,(2n+1)m)

c)(2nm ,(2n+1)m) d) (nm,(2n — Dw)
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2_
5) Find a quartic function q(x)such that f(x) = % has one horizontal asymptote

y = _71 and exactly one vertical asymptote x = 3
a) q (x) = —Z(X - 2)(x + 3)

b) q(x) =2(x—-2)(x—-3)

) q(@) =—7(x-2)(x-3)

d)q(x) =-2(x-2)(x-3)

©) The function f(x) = |x — 1| has no tangent line at x = 1 because
a) f(x)has a sharp corner at x = 1

b) f(x) isundefined at x = 1

c) linll f(x) dose not exist
X—

d) lim f(x) # f(1)

7) The functionrepresents the positionin feet of an object at time t seconds
Estimate the instantaneous velocity att = 2

s(t) =33+t
a) 38ft b)37 ft

c) 37 ft/sec d) 36 ft/sec

. 2x+1, x<0 . ,
8)if f(x) = {3x+1, T2 then f(0)is

a) 2 b) 3

)0 d) dose not exist
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9) Determine the value(s) of x for which the tangent line makes an angle 45° with x — axis

the function f(x) = x3—3x+1
1
b) X = E

d)

2
e

10) Find an equation of the tangent line to the graph of h(x)

h(x)—M , at x=1

f(x)

f(x)

g

-1

-1

-2

3

a) y=x—3
b) y=—x+3
c)y=—x—-1

dy=x-1

11) The derivative of the given function is
f(u)= (u+1)(u-2)
u?-5u+1

N —4u? + 6u-11
Q) f (W= s

. —4u? + 6u—-11
b) (W)=

. 4u? + 6u—11
) fW =G

—4u?% + 6u+11

d fW =
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12) If f(x) has an inverse g(x). Find g'(a)
fxX)=x°+4x-2 , a=-2

a) g'(2)=4 b) g (2)= _Tl

c)g(2) = -4 d) g'() =
13) The derivative of f(t) = tan®2t — csc*3t is

a) f(x) =6 tan?(2t) sec? (2t) — 12c¢sc?(3t) cot (3t

b) £ (x) = 6 tan®(2t) sec® (2t) — 12csc*(3t) cot (3t)
c) f(x) = 6 tan*(2t) sec® (2t) — 12csc*(3t) cot (3t)

d) £ (x) = 6 tan®(2t)sec® (2t) + 12csc*(3t) cot (3t)
14) The derivative of f(x) = :—i is

a) f\(x) - e* 1—ln2) b) f\(x) _ e*(1-1n2)

2% 2%

. X(1+1n2) . X(1+1n2)
0 f(x) = S d) f () =- S

15) The derivative of f(x) = 4sec” ' (x") is

16 -16

a) f\(x)=xm b) f\(x)zxm

-16

xyVx8-1

O f@= = d) f(x) =
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16) a) Use the Squeeze Theorem to prove that the value of
lim x? sin%

16)b) Find the value of lim
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17) b) Use the graph of f '(x) to sketch a graph of
(x) y
4 4

18) The concentration c of a certain chemical after t seconds of an autocatalytic reaction is

. 10
given by c(¢)= S0t

that the concentration of the chemical never exceeds 10.

show that c’(t)> 0 and use this information to determine
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20) Find a value of c as guaranteed by the Mean Value Theorem for
f (x) =x3 —x* — x + 1 ontheinterval [0 ,2]
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